DRAWING NO.

651001

A

A WCR g DOOR
ar passe BERIOLN
| IR o DEATH
MEEF CLEAR of
| sy white ciooe
" movieg

X32 g,

IT™M# QTY PARTH DESCRIPTION MATERIAL
1 |1 502585 PLASTIC PULL HANDLE

2 |2 502592 KEEPER, STOPS & LOCKS Zp
3 |1 506604 LABLE,WARNING,GUIDE
4 |4 |Ref. 502961 BOLT, TRACK,5/16-18 X 3/4 7p
5 |4 |Ref. 625053 NUT,WZLK,5/16-18 Zp
6 |6 |Ref. 625073 BOLT,LAG,3/8-7X 2.5 Zp
7 |6 |Ref. 625075 WASHER,FLAT,3/8,USS 7P
8 |4 |Ref. 625055 BOLT,WZLK,3/8-16 X 1 7P
9 |32 |Ref. 502870 Screw, HWHSM, #14X1.5 7P
10 |1 9 X 10 3mil Bag On Roll Poly

THIS DRAWING AND ALL PARTS
THEREOF ARE THE EXCLUSIVE
PROPERTY OF TRAC RITE DOOR,
INC. AND MAY NOT BE o ®
4" trivsene. REPRODUCED IN WHOLE OR °
X g 6 4 W — '9 0 PART WITHOUT WRITTEN
- X x4 m X PERMISSION.
TOLERANCE DOOI' Inc.
(UNLESS OTHERWISE SPECIFIED) ' - 9
LINEAR. + 032" 314 Wilburn Road, Sun Prairie, WI 53590
. - +90 Phone: 800-448-8979 ) Fax: 800-236-8722
ANGULAR: * www.tracrite.com
DATE 10 04 04 DESCRIPTION
_ 00404 IHARDWARE PKG,WOOD,988
B | 2601 | OBS 502597 & REPLACED W/ 502592 | JIK 99711 JSB JSB  [DrRawING NO. REV. SHEET
A 1961 UPDATED JSB_| 09-12.07 |SCALE SIZE
—_ OF
REV. | ECN DESCRIPTION BY DATE A 65 100 1 1 1




